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UNIT-1/5%-1

1. (a) Solve —
g DY —
y-xg=a(y’+g)
(b) Solve —
g PIfSTY —
(1 +e”)dx +e??{1 - (x/y)}dy =0
A (a) Solve —

& BIFVTT —

d .
ay+xsm2y = x3 cos?y

(b) Solve —

gl BITY —

(2ydx + 3xdy) + 2xy(3ydx + 4xdy) =0
UNIT-I1 / 3a15-11

a) Solve —

gl BINY —
x2p? - 2xyp + 2y* - x*=0
Find the general solution, singular solution and extraneous loci of the

(b)
- following differential equation —

= g TiieERY b1 AMS g, fIfem g dn i g U ||
PIfSTT — |

(8p* - 27)x = 12p%y
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5. (a)

(b)

(b)

(b)

(b)
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. Gt mbers and
I W+ E(x—a) = 0, where a, b and g being posiive T8
x =a’,— = 0 when t =0, then prove that i
mllhmdﬁ,“m;nné%ﬂvx—a -d—=0

Uf? :: + ‘(X r])
t
S (= 0), fﬁ R1g & f(),

x =a+ (a’ —a)cos{/(g/b)t}

Solve
gd P
(D” 1)y = cosh x cos x
UNIT-111 /g1 11
Solve
gal B
xt Y :z'i"z" /d_ylr xy =1

dx 3
Solve the following dlﬁClcnllal equations -

ﬁmmamwﬁaﬁgamq—

= —w dy _
dt y, dt = WX

Show that the point (x, y) lies on a circle.
yeRRia ST & fimg (x, y) & ga W Rerd & |
Solve —

gl aﬁﬁm -

Y + cosx d— -
dx3 dx2
Show that the function f(x, y) = xy? satisfy the Lipschitz condition on the

Rectangle R : Ixl < 1, lyl < 1, but does not satisfy a Lipschitz condition on

dy
Zsmxd——ycosx = sin 2x

the strip S : IxI < 1, lyl < oo,
g PIT & B f(x, y) = xy? M R: xI< 1, lyl < 1 R forfrest =

Bl AT FRAT 7, AbT gSST S : Ikl < 1, |y|<eoqv1%rﬁzws1ﬁﬁ
A< TEl AT 7 |
UNIT-1V /$&15-1V

Solve —
2 &%y dy o _
X dxz+xdx 9y =0

Given that y = x is its one solution.

gl DIy —

2d2 +x —9y 0
f?'mgaﬂ%ﬁ?y XWWW%I

Solve -

(1 +x)2 L+(1+ ) =y = 4 coslog(1+x)
Solve by the method of vanatlon of parameters -
grael famRer ffYy gRT &l BT —

dy 2

dx? T 14eX

Solve by the method of undetermined coefficients —

et Tqoniet @ fafyr gRT g BT -

dy+2xﬂly+(x +5)y = xe*/2
2
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UNIT-V / g1V

Solve —
g :IfRw —
(X=YIp+ (X +y)q = 2x7
Solve the following equation by Charpit’s method

= et @) andl QR A gcl AN

2xz — px® - 2quy + pa =0

Solve —
A HIT —

%z 9%z 0z, — cos(x+2y)+ eV

ox? ax oy ay
Solve —
g T —
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